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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: I'ﬁﬁ?ﬁﬁﬁﬁﬁ?ﬁﬁm?ﬁ?ﬂmmé:
1. Discussion method / faaR-faw=] fafdr

2. Question- Answer method / U¥R fafdr
3. Lecture demonstration method/ WWW
4. Inquiry method / Wﬁﬁ{

Correct Answer :-

« Question- Answer method / TR fafdr

2) Law of Exercise stresses the importance of in learning. / SWTH BT fram arfermy

¥_ FUsaWwRIdargl
1. Reward / YRIHIR

2. Readiness / ddd=dl

3. Practice / ¥

4. Impact / UHId

Correct Answer :-

o Practice / SN

3) According to Piaget, children experiment with sounds during the NALCIEK D SR, T

P EIRFEFAi S A AN aRA § |

1. Preoperational stage / Jd-Sifoharatds (WSITORRA) AT

2. Concrete operational stage / Jgl SfhaIdd® (dehic ATIRT) Sawl
3. Formal operational stage / 3d Sfsharatas (HrHe ATIRRF) Sfawl
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4. Sensorimotor stage / Hdal URds TR

Correct Answer :-
» Sensorimotor stage / Hadl IR SR

4) Why is the learning environment important for active learning? / gferg Sftrm & ﬁl’ﬁ[ SfeRTH
o1 ufea= i Wgeayqul 32

1. To build knowledge through collaboration. / N1 o A1H Y I B ARG B3 o ol |
2. There are no assessments. / ﬁ’sﬁ SHTh A :@TI

3. There is no need to engage with the content. / I O i 89 &t STaRg ﬁ%l

4. It uses multiple resources. / g ﬁ T BT YT Bl %I

Correct Answer :-

o To build knowledge through collaboration. / HB@T[ & HTeHH I I Bl [GHRId A & ﬁ‘l'q I

5) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? ANTE e

P AN AP Bt B At srawt ARy ¥u A fewiRewr A gid 82

1. Identity vs. identity confusion / UgdlH &-TH UgdlH yifa

2. Generativity vs. stagnation / STIHD T §1H fRuRan
3. Trust vs. mistrust / [A%T SFTH SHfaymE
4. Intimacy vs. isolation / IS dr a1 faerwar

Correct Answer :-
+ Identity vs. identity confusion / GgaT- &9 Yga Yifd

6) Which of the following is least likely to be a sign of depression in adolescence? / foF=NRTawIT & f 9
# 9 {5 3auTe $1 HHd 514 BT HHTGHT 32

1. Sudden drop in marks / 3P H 3faM® FR1aC
2. Missing classes / P&l T IR gIR g

3. Withdrawing from friends / RSIKS| QX gl
4. Changing friend groups / o ﬂ@ CACCEI]
Correct Answer :-

« Changing friend groups / T FHg! &I IGaT
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Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / ?J'IT-"?;IW
F AR 37 A HIH-TT HYF TRl (T BT T 33T qui- ST 872

1. It means that drill or practice helps in increasing efficiency and durability of learning. / TH®HT 3 g fp
TR0 A7 3T SMRRTH &} geraT 3R W &l 9 | A Hral gl

2. It means that preparation or disposition of the subject contributes to learning. / THhT 3 g for fawg
GRINEIRCHI R DUt R UG

3. It means that the organism changes its response till an appropriate behavior is hit upon. / TH®HT 3 fug®
f% U S0 Fa8R & UGR 811 A% Sitd 30+t Uffehan Sgadl 381 8|

4. It means that trial and error leads to connections being formed. / SHPT 3 g o g sk e & HRUT
REEEECK]
Correct Answer :-

[t means that preparation or disposition of the subject contributes to learning. / SHPI 3 B & fawg &

TR 1 U SR B AT T B
8) The ability to think rationally and act purposefully is ./ THIIE T A e 3R
IR} ¥t A R HIA B e gl

1. Reasoning / L3
2. Perception / ?:ﬁﬂﬂ?
3. Intelligence / §@

4. Creativity / Xd-THD I

Correct Answer :-

« Intelligence / §@

9) The term Bandura used for explaining, overall process of social learning is ./ oG A = a1
wHY wrAfore ufsrar o gue & g fPa rg s wan fearg |

1. Self-efficacy / SHTH-TUTTHTRAT

2. Conditioning / 3Jpdd

3. Vicarious reinforcement / YT d Yaie
4. Modelling / gfaegur (ﬂm

Correct Answer :-

+ Modelling / UfaReuur (@isfei)

10) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom. / Gal
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faendf ot Suafss sk quTa=ht wam & awd srataad d ga9 Agaquf
PRS AAETATAI 2|

1. Teachers /ﬁfw

2. Principal /U?ﬂ:lﬁmf
3. Supervisor / qdderds
4, Counselor / HdTghR

Correct Answer :-

o Teachers /&[&‘W

11) Which of the following theorists believed in the role of biological maturation in the
development and learning process? / fFafefaa # P 9 Rrgider fAerarg i siftrm &1
wihar & Sfae ufvumar $t YfireT R Ay #=d &2

1. KohIer/H’ﬁ%T

2. Skinnerm

3. Vygotsky / ATSTICHe]
4. Piaget / oot

Correct Answer :-

« Piaget/ oo

12) Reasoning is studied under ./ & Siala arfbear &1 3rega= fbar srar

g

1. Social development / IS CACEIR]

2. Cognitive development / GIFTHD IEEQR
3. Physical development / TRIRSD fapr

4, Personality development / Hfdda f[dhr™

Correct Answer :-

« Cognitive development / GJTTHD fawrg

13) Child development refers to the and changes
that occur in human beings between birth and the end of adolescence. / dTd o™ 9 arad

, 3R gRad=l A 3 & 79 & 7 3R fPRawT & 3id &
ClERCE]

1. Biological, Psychological, Emotional/ m, W, HIGATHD


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. Qualitative, Empirical, Quantitative/ [UITH®D, AJHASY, HIATHD
3. Childhood, Adulthood, Adolescent/ U, I dl, HIR

4. Infancy, Early, Late / 99U, EEARAES]

Correct Answer :-

 Biological, Psychological, Emotional/ m, n:ﬁésm‘?m HIGATHD

14) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

HRA A et aafdral & SifierRY 3 WYw WY W@ (UNCRPD) R T # ¥ fory af 1
gweR fee?

1. 2006
2.2007
3. 2008

4. 2005

Correct Answer :-

« 2007

15) Gifted children are good at / UfdHTRITeN 9= fre HeH & 9gav gld 82
1. All of the above / B'CPJER‘[ Tt

2. Ability to quarrel with others only / PHad 3T b Y BRI & DI AT H

3. Ability to solve problems only / Had GHWIS DI 8 B D! Irgar J

4. Ability to help teacher only / %ad fR1ef® B! T B Bt ATl T

Correct Answer :-

« Ability to solve problems only / Had GHIIS DI §d B H! Irgar d

16) Abraham Maslow propounded which of the following theories of motivation? / 3dlgH

ARl A IRon & frafafed Risidl # @ fewe! ufdurfea fear?
1. Humanistic Theory/ ATAdTGIRIGId

2. Incentive Theory/ Ww

3. Drive Theory / Wm@ﬁ

4. Expectancy Theory/ 3uer Rgid

Correct Answer :-
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e Humanistic Theory/ HHadIGIRIgid

17) What are some ways to help children develop problem-solving skills? /

T W GUT A & BId [AHRIa Fe1 § Ugg 1 & O dild 18?2

1. Be a helicopter parent — do not give children space to make mistakes. / T SICTER
TS & - T DI ATl B BT AW A G |

2. Avoid giving children the chance to make tough choices. | 9 ®I Sfed fawea J-1d
BT Wbl o 4 |

3. Make problem-solving a fun part of the culture of your home. / THEIT-THIYM & 3104

W DI WP DI Th AoGR 3T 1|

4, Children must be protected from experiencing failure. / gl Bl BT BT HTHAT B A

CEIRIEITEY

Correct Answer :-

« Make problem-solving a fun part of the culture of your home. / JHI-HHTYTT CAREIE

R I TP BT Teb ASIGR fowdr §1|

18) In Freud'’s view, development is a process. / WIUS & faar A, fawrg
T ufspar g1

1. Continuous / FRTR

2. Random / TR ®H

3. Active / Tfohg

4. Discontinuous / ARG

Correct Answer :-

« Discontinuous / 3FRaR

19) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / 51§ GHRI '\“{P\'T H SHeR gH ﬂﬁl’ |
UG 3 TFPRI B TG B | APl 8, df fHT TR ot ya sidl 82

1. Decay / Udd
2. Delay / IERE]
3. Cue-dependent forgetting / Hohd-3nya Hd

4. Interference / 31AAY

Correct Answer :-
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« Interference / 3aRIY

20) What type of a learner is one who learns best by watching movies or documentaries? /

%ﬁmmﬁﬁmeﬁﬁﬁmmmm%wmwmmwﬁ
?

1. Aural / HURTR]
2. Kinesthetic / UTTH
3. Reading/writing / Yo / [SReR|

4, Visual / €9

Correct Answer :-
e Visual /€Y

21) What type of language theory focuses on the inborn capacity of infants to learn

language? / W?ﬁ@ﬁ%mm\?ﬁ%m &A1 IR fg R &1 U Rigid
Hfxas:

1. Behaviourist theory / TI8R RIgid

2. Nurture theory / G507 Rigid

3. Instinctual theory / T8 Rigid

4. Nativist theory / g9l a1l fRigid

Correct Answer :-

« Nativist theory / Hg\l Q‘II'-IOIIC‘:\I IQI:&']CI

22) A detailed information about the individual’s ancestry is collected when the following

method is used to measure personality. / aawl%laaﬁnmﬁa?mﬁaﬁfﬁmm“
foraT omar @ @ safaa @) dwmad & IR W U fawgd SHeR! T g |t 8

1. Interview / HI&ThR

2. Case History / W%@

3. Projective tests/ & giem
4, Questionnaires/ PEIG

Correct Answer :-

« Case History / W%@
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23) If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

Tfe Rrere o iz I o) aafRyd $31 § Ugd o &1 wfeaar ik
HHSNNYT & IR A FAAT1 8, Y 18/ B fpg &1 I ST T1ee:

1. Summative Assessment / JRITRId W
2. Diagnostic Assessment / W EFCITH'T*T
3. Interim Assessment / 3IdIRH H\F\‘TW

4. Formative Assessment / XdIHP H\qucbﬂ

Correct Answer :-

» Diagnostic Assessment / EAIRE2 Jj\vqid%‘l

24) The creativity of the child can be most appropriately brought forth by giving

gtheclass./ﬂ?&ﬂﬁ B T Pl IWATHSB AT B SFd Y | YMHA AT ST IHdT
|

1. Homework / W

2. Notes / ﬁ'ﬂqﬁltﬁ’

3. Impositions / 3RIgu
4. Assignments / HTI@%QH

Correct Answer :-

« Assignments / THIGRM

25) Visual problems get solved more comfortably than verbal problems, during which stage
of cognitive development? / TXT THETY MR THET3M BT a1 # S R 7,
GRS e & f6g TR & R 8 g &) odt 87

1. Concrete operational / Ilj b ardsd (d;qfﬂc m
2. Preoperational / Uﬁ—w (FSHTIRRA)

3. Formal operational / 3‘|T|:rf BIERIGED (tb—\llﬁ?f m
4. Sensorimotor / Hag| URP (@'ﬂ'\ﬁtﬁm

Correct Answer :-

» Concrete operational /ﬂﬁﬂw W’ﬂ? m)

26) What dilemma did Kohlberg present to children in his study on moral development? /

Digaat A U= Afad s & sreaa=T & g= &1 F1 glauT wRgd &1?
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1. Hector’s dilemma / %TRT P ‘gﬁ"iﬂ
2. Heinz’ dilemma / G &1 E\Zﬁ?ﬂ

3. Mary’s dilemma / Rkl @%‘C‘ﬂ

4. Henry’s dilemma / SR B Eﬂa?ﬂ

Correct Answer :-

« Heinz’ dilemma / 851 &1 _g"ﬁ?ﬂ

27) Which of the following is least effective in educational implication of attention? /

Frufefea 3 @ s o= & e FHigard d o gurd 32
1. Theory talk / Rrgia araf

2. Audio — visual aids / €Y -4 Ul

3. Gestures and movements / HTd-HRTHT 3R TTfafafe

4. Incorporation of variety / fafaerar THORA

Correct Answer :-

o Theory talk / Rrgid ardf

28) Aptitude tests are indispensable tools at the hands of to provide

educational and vocational guidance services. / ﬁ‘f&lﬁ? Gﬁ? TS HF‘\'EQH
T4TE USH B & e sifrarar adieror 31 3ffard Susor g1

1. Teachers / fﬁT&‘Iﬁ

2. Friends/ EEE]]

3. Doctors / fafercqa!

4. Counsellors / Wm

Correct Answer :-

. Counsellors / GATGHRI

29) CANCELLED

According to Carol Dweck’s Mindset theory, an incremental view of ability means WA 23|

AP & ARGl & RIgid & IR, &HdT & TP 8¢ €xd b1 Hdad H
1. a stable and uncontrollable trait. / Tch fRR 3R sifyafag faxydn

2. a characteristic of an individual that cannot be changed. / T fd P fa=iedr forg dedl '_'|€[ ST b dl
gl
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3. a set of intellectual capabilities a person possesses. / Sifed &y &1 i qq=q S U Hfad & I
GI]

4. an ever expanding repertoire of skills and knowledge. / DI 3R JH BT Udh ﬁﬁﬁ IEESIRY

Correct Answer :-

 an ever expanding repertoire of skills and knowledge. / DI 3R M b Uch ﬁﬁﬂ fowr|

30) Assessment results of a very strict yet effective teacher’s class are below

average. The factor that is impacting learners in this class is the -/ U® dgd Bl

PSP Afb- YU R1ere it & srpad & aRomd idd A FH g1 98 SR & 59
P o Rrenfiay oY yvnfad s w1 8, A= 2

1. complexity of the topic / fa&g &t Sffeerdr
2. boredom of learners / FRI&TITT @1 Afvgd
3. relationship between the teacher and learners / e iR Rrenfial & ofa dey

4. relationship between new content and old content is not clear / :l—s: T GﬁT HTF'ﬂ it &
g ddy Wy T8t 8
Correct Answer :-

« relationship between the teacher and learners / e 3R Rienfial & i gey

Topic:- General Hindi (L1GH)

1) I5d Tu-usE aul ® gUR WHUM &1 TP d | TP I1 Saad 3741 3| SSA1-SHIT-SS1-AIUR-30H 39
Fad gfaror URd a6 Wi T8 81 A SR YR & 1t g% WER § SUasy 7 MY 3T df W URA B ‘g@Er
TPid AU R I & T gt 31 3 317 Fal ot g, IR YRR At-Sra-anT sy e & s
BRE BS’ (G¥d HIor) BT Ta ot 98 e A Ga 921 81 59 BRe B’ A IR, Toed ot s ool i
21 T 9N ® 9 & a1 a9 e s Eer o "gvad: fFeft ¥ e s T8 w1 g fmew
TS® & UPbe §¢ ¥ I d $U-I-$U g=-g¢ 9t uRfa 8 9o &1 32t e TueH & +3 WFh oR
3t a HA Hivgg 8, Afp - fre & #¢ fagfd =u deh | TR-8R # o718 §971d &1 3R B

SUY o T Y UG A1 3T T 0y P71 3w 94184 -
WRH: a1 TPl Bal 1 @2

1. i3t URa

2. GH&Ur HRd

3. Q41 HRd

4, 3R HRd

Correct Answer :-

o 3TN HRA
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2) TF & T,
& e,
T I Al & U &7 g
W%qﬁ,
a%qﬁa
ARG-ATE Hife-Hife eTdl & T=f P T
T &1 e,
I
FOR-FIR Wl Bt fg) &1 707 ek

B FT18?

IRANpT TR aE

afeal & urit BT 911G 8 9%

B1di & wef A ufwr

- preht-igeh frgh & 7o e @

FUaR & ol 3t fbon &1

Rrger gon W ia 8 ga1 9t RReT 31

I UL B Ugh -1 faT 718 uy &1 IR 7154 -
U BHd 182

1. AT & T BT oG SR B & BTU BT HoR TRe™ gl
2. 3T A B TE

3. Had b & 8Tl BT HSR URYH

4, Had Gl & U BT g

Correct Answer :-

. I & Ui &1 g 3R fHa! & g1l &1 Ho R ulked Al

T PRI gt 3 et iR
TP Bi TE,

HEIG
FTIR-TIR Wl 31 gt 7 7707 o

A T 82
IRAPT T T®
qfed & u TG ? 98
U & Wt P Al g

18- Frefl-weeht g w1 qur enf &

FUTR 8 G Pt fareon &1

Rywer gon o ia 8 gar &1 RRea &1

IUYad URIiR I UgHR 1 feT T8 Uy &1 IR 9415 :

U fhdA 814 BId S §HT I1d &2
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1. 3By
2. 5T A IS eI
3. UH g1y
4. DIC-PIC BIY

Correct Answer :-

. Bifc-Hife gy

%?W&ﬂﬁ?ﬁ%?uﬁmw:

TS & T8I,

& 8,

G-I Bife-Hife g1l & =t ot i
TP o1 g,

I
FUR-BOR Wl &t gt &1 707 oH:
B T 82

IRAMPo T e TE

qfed &y H1eig B 98

et & wuef P wfgwr @

18- Freft-weelt g w1 qur enf &

FUAR & ol Pt fabwon &1

Rrger gan W ia 8 g1 3t RRFA 31!
ITYa UL Y Ugah? A1 3T 718 9y 1 3wR 9153
UR: B YN gg ATaRIS dcd T 82
1. ®ad gt

2. Had AHA UReH

3. Had Hg! B IARIfad

4. IWRad gt

Correct Answer :-

o SWRIad gt

ARG BIR-BIe Tl 3 Wt a8t i
TP P 81,
aaﬁ-:réa
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TUR-BWR Wdl D1 FgH &1 701 ¥H:

T T 82

IRAPOTWI T T®

qfed &y S1eig R a8

e & el P ufewr

18- Frefl-weelt g w1 qur enf &

FUAR & ol Pt fpon &1

Riwyer gon T 8 ga1 oY RR%A 311

ITYa U Y Ugh? -1 3T 718 0y P71 3wR 9183
UL: BHA D) GHd 991 A fohgeT Ge giar @2
1. Had g1l &I

2. Had HAR URYH BT

3. Had Al &l

4. IWad Gt &1

Correct Answer :-

o SWRIad 9 &1

%\’W‘Iﬁéﬁ?qﬁiﬂﬁr@

TP & e,

a%qﬁ’

ARE-ATE Hife-Hife srdl & w=f &) ik
T &1 e,

aaﬁ-:‘ﬁ,
BUR-EWR @l &t gt &1 o7 et

S T 8?

IRANpTAE ¢ a8

afeal & urit BTG 8 98

U & Tl P ufewr
Wi-Pref-deett g ST qur e @

FUAR & Rl Pt fbon &1

e gom Jw 8 gar &) RRea @1

ITa U P Ugh A1 3T 718 9y &1 3wk 9134
U= 814 &1 U 2reg A §f @ d-ar =8t 82
1.8y

2. 4
3.8
4, hY

Correct Answer :-
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TG-S PR-FR redd & et Y e
TP 31 e,

[EIE A
FIR-EWR Wl @1 figt &7 7o o

B T 82

RN T T®

Afei & Ui ®191g 8 98

Tl & wRi St ufgar g

Wi Frefl-eett gt ST qur e @
FUAR & Rl 3t fbeon &1

Rrger gan v g 3 ga1 ot RRpa o1

I UL B Ugh 14 faT 718 w1y &7 IR 7154 -
U GRS BT UGigard Weg 32

1. Bad fGThR

2. Had

3. Bae UHTDHR

4. SIS Gt

Correct Answer :-

o SWRIad gt

T I A & urh & g

TP & e,

31 & 8],

ATE-ad Hife-wife grul & w=f &) i

T Bl el
HEIEGH
FUR-FIR Wl Bt fg) &1 707 ok

A T 82
IRAFoTHTT
Jfeat & uri BT og § a8
1 & Wl Frafear ?

yH-preft-Haeh gt o1 qor enf @
TR 8 GRS PI freoi BT
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Rrer gom d&14 8 ga1 31 R o1

I TR B UghR 1 faU 71T Uy 1 IR Ta184 -
U P $1 [9aH g |1 82

1. H&Y

2. Apfad

3.

ENCIE)

Correct Answer :-

TG-S PR-FHR redd & et Y e
TP 31 e,

[EIE A
FOR-FIR Wl Bt fg &1 707 ek

B T 82

IRApoTHETE

afeal & urit BT 911G 8 9%

Tl & Wi St ufgar g

- relt gt gt & Ior wed @
FUIAR & Rl 3t fbwon &1

Rrer gan v g 8 g1 9t RRpA 31!

IUY e UL B UghR -1 AT 71T Uy &7 IR Ta154 :
U e WG A A A R R

1. gfesi

2. TR

3. S0 4 IS Tgl

4. IHTMY

Correct Answer :-

R I it & i & wrg:

TH & o,

31 & 8],

ATE-a1G Hife-pife gl & w=f &) i
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T &1 e,
I
TUR-EWR @l &t gt &1 707 et

w132

IRANpT IS e T8

il &y S1ig a8

BT & T P afgwr @

- Teit-Heel gt &1 Ior 4 3
FUR & Rl 3t fbon &1

e gan Joiw 8 gar &) RRea &

IT Ui B Ugh -1 3T 718 9y &7 IR 9134
T TAT P dagd Weg BI-91 82
1. IR

2.84
3. PX

4.1

Correct Answer :-

11) T& & g,
& 8,
T I A & urh & g
TP & e,
31 & 8],
ATE-ad Hife-pife grul & w=f &) i
T &1 e,
aﬁq@:’
TUR-E9R Wl &t gt &7 707 ot

B T 82

IRAFoTWITT®

Afeat & uri BT og § a8

g1t & Wl P afkwr g

Y- Preft-waeh g & o enf @

FUTR 8 GRS PI faron BT

Rywer gon Jo g 8 gar &) RRea &1

ITF U B UG A1 3T 71T 9y 7 IR 9134

UA: IO 1 fIend 2eg Fa1 ghm?
1. 3{QIOT

2. 00

3. ST U PIS Tl


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

+. Fage

Correct Answer :-

AR PR BR BT & Tt ot i
TP 31 e,

HEJEGH
FOR-FIR Wl Bt fgh &1 707 ek
B T 82

IRApoTEETE

afeal & urit BT 911G 8 9%

i & wxi St ufgar g
WPttt gt ST qur el @

FUIR & Rl 3t fbeon &1

Ryver gon Joia 8 gar @) e &1
IT U B Ugdh A1 3T 71T 9y 71 IR 9154
WRH: FTY’ BT T Weg HIH-T 82

1. 81

2. 8IRkd

3.8

4. BT

Correct Answer :-

%?Hﬁﬂﬁ?ﬁ’%?uﬁwrwz

W%qﬁ,

31 & 80,

ARG-ATE Bife-Hife eTdl & T=f 1 i
TP B e,

aﬁqﬁﬂ
TUR-E9R Wl &t gt &1 707 o

T T 82
IRAPT TN T®
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e & urit s g 8 98
el & el Fafgar @

18- Freft-weeht g w1 qur enf &

FUAR & ol Pt fabon &1

e gon Y § ga1 &) RRea @

IUYa U= P UgHR -1 feT T8 Uy &1 IR 94139 :
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Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

If we leave our doors --locked, our houses are liable to be burgled.
1. inter--
2. over--
3. pad--

4. un--

Correct Answer :-

e un--

2) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterfiies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson
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What does the poet most likely mean by the word "token" in the given line?

"By all these lovely tokens September days are here, "
1. days

2. days

3. people

4, signs

Correct Answer :-

 signs

3) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by "golden butterflies" in the given line?
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YAt noon the roads all flutter With golden butterflies. "
1. Valuable plants growing on the side of the road.

2. Gold-coloured cars driving down the road.

3. Golden leaves falling onto the ground.

4. Golden coins falling from people’s pockets.

Correct Answer :-

« Valuable plants growing on the side of the road.

4) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterfiies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer.- By Helen Hunt Jackson

What seasonal change does the poem focus on?

1. The change of season from autumn to winter.
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2. The change of season from winter to spring.
3. The change of season from summer to winter.

4, The change of season from summer to autumn.

Correct Answer :-

« The change of season from summer to autumn.

5) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summaer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

How does the poet most likely feel about the month of September?

1. He probably thinks September is too cold.
2. He probably dislikes September.

3. He probably does not feel strongly about September.
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4, He probably likes September a lot.

Correct Answer :-

« He probably likes September a lot.

6) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

How is the pacemaker devised by Biotronik different from other pacemakers?
1. It is easier to replace

2. It is cheaper

3. It is smaller

4. It can fax daily reports

Correct Answer :-

It can fax daily reports

7) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What is the cost of the Biotronik pacemaker?
1. $50000
2. $20000
3. $60000

4. $30000

Correct Answer :-

e $60000
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8) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What must the patient do when dangerous symptoms are noticed while wearing the Biotronik
pacemaker?

1. Push a button in the transmitter
2. Wave a magnet in front of the chest
3. Raise the voltage of the transmitter

4. Shake up the transmitter

Correct Answer :-

» Wave a magnet in front of the chest

9) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What are pacemakers?

1. A grafted valve in the heart
2. An artificial limb

3. A neurological device

4. A cardiac device

Correct Answer :-

o A cardiac device

10) Choose the appropriate pronouns for the given sentence.
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Radhika interacts with customers from____ house.
1. he, his

2. she, their

3. their, their

4. her, her

Correct Answer :-

 her, her

11) Fill in the blank with the correct option in the given sentence:
I’m afraid the manager is at the moment.

1. availing

2. availed

3. unavailable

4. unavailability

Correct Answer :-

» unavailable

12) Which of the following options best combines the following sentences?
The student was helped by the teacher. He made good progress.

1. Having the teacher helping the student, he made good progress.

2. Being helped by the teacher, the boy made good progress.

3. Good progress was made by the student as the teacher was helping him

4. Because the teacher helped him, so the student made good progress.

Correct Answer :-
» Being helped by the teacher, the boy made good progress.

13) Choose appropriate articles for the given sentence:

tribal people of some parts of Madhya Pradesh practise unique subculture which
is beauty of multiculturalism of India.

1. The, a, no article required

2. The, no article required, a
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3. A, 3, no article required
4, The, a, the

Correct Answer :-

e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

Ram gave a glass of water to the beggar.
1. The beggar was given a glass of water by Ram.
2. The beggar is given a glass of water.

3. The beggar is given a glass of water by Ram.

4. The beggar got a glass of water from Ram

Correct Answer :-

¢ The beggar was given a glass of water by Ram.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

Some people stand out for their gallantry.
1. callousness

2. clout

3. eccentricities

4. courage

Correct Answer :-

e Courage

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

Vishnu to work in Japan, so he Japanese.

1. will want, will learn
2. want, will have learned
3. wants, is learning

4. is wanting, learns


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-
« wants, is learning

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The boss disliked her recalcitrant attitude.
1. erratic

2. intuitive

3. compliant

4. unruly

Correct Answer :-
» compliant

18) Choose the appropriate prepositions for the given sentence:

He was prison a crime that he had not committed.
1. into, by

2. in, for

3.in, with

4, at, for

Correct Answer :-

* in, for

19) Choose an appropriate modal for the given sentence:

If you are travelling internationally, you carry your passport with you.
1. could

2. would

3. must

4. might

Correct Answer :-

e must
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20) Choose the option that best explains the highlighted expression:
I was completely wrong, and now I have egg on my face.

1. embarrassed

2. repenting

3. insulted

4. suffering

Correct Answer :-
e embarrassed

21) Choose the option that best transforms the sentence into its Indirect form:

I said, “Can the children get tasty meals at school?”

1. l asked if the children can they get tasty meals at school?
2. | asked if the children could get tasty meals at school?

3. | asked if the children could get tasty meals at school.

4. | asked if the children can be getting tasty meals at school.

Correct Answer :-

o | asked if the children could get tasty meals at school.

22) Choose the option that substitutes the given phrase appropriately.

A list of things to be settled at a meeting
1. Minutes

2. Reference

3. Issues

4. Agenda

Correct Answer :-

23) Report the following dialog and change to Indirect form:

Sam : Doctor, I am not feeling well today.
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Doctor : Why? What happened?
Sam : My throat is paining and I think that I have fever.

1. Sam told doctor that he is not feeling well that day. Doctor enquired what had happened. Sam replied that
he had throat pain and he thought he had fever.

2. Sam told doctor that he is not feeling well today. Doctor enquired what had happened. Sam replied that
he has throat pain and he think he has fever.

3. Sam told doctor that he was not feeling well that day. Doctor asked what had happened.sam replied that
his throat is paining and he thinks he has fever.

4. Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied
that his throat was paining and he thought he had fever.

Correct Answer :-

» Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied
that his throat was paining and he thought he had fever.

24) Read the sentence carefully and choose the option that has an error in it:

My father caught my brother red-handed with a cigarette on his mouth.
1. my brother red-handed

2. with a cigarette

3. on his mouth.

4. My father caught

Correct Answer :-
e on his mouth.

25) Read the sentence carefully and choose the option that has an error in it:

In spite of its small size, these cameras take very good pictures.
1. take very good pictures.

2. In spite of its small size

3. these cameras

4. No error

Correct Answer :-

e these cameras
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26) Choose the most appropriate determiner for the given sentence.

Everyone should have a check-up with the dentist __ six months.
1. all

2. each

3. another

4. every

Correct Answer :-

27) Choose the appropriate conjunction for the given sentence:
His plans, vast, were never visionary.

1. but

2. and

3. were

4. though

Correct Answer :-

e though

28) Fill in the blank with the correct option in the given sentence:

The factory has an air puri-- plant to provide clean air for its workers.

1. —-est

2. --fication
3. —ify

4. --ness

Correct Answer :-
» --fication
29) Fill in the blank with the most appropriate preposition in the given sentence.

When it started to rain, we went the house.
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1. onto
2. towards
3. under

4, into

Correct Answer :-
e into

30) Choose the right tag:

We ate a marvelous supper last night, ?
1. didn't we

2. haven't we

3. can we

4, don't we

Correct Answer :-

e didn't we

Topic:- Social Science (SSC)

1) FDI stands for oy Eﬁﬁ'ﬁﬂ%, Tféra =g %I

1. Financial Development Institution / BT RId SIdule S [SIRIE
2. Financing Data Initiative / BTeARIT SeT shHfRrefed
3. Foreign Direct Investment / BRA CC',T@_OE' E'a?fﬁ'

4. Forex Directorate Institution / PTG Slsjidc\l\ﬁd stdnl YR

Correct Answer :-

« Foreign Direct Investment / B Sls\ﬁdd s'a%cﬁ'c

2) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / ﬁ’_\q

Haun e T=ieq fafay # aagE #1 3myg 21 J gera? 18 af & &t 18 A2

1. 615t /619

2.620d /629

3. 66% / 669
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4. 64th / 649

Correct Answer :-
. 615t /619

3) Which among the following are key faunal species that is being conserved and monitored in

‘Dachigam National Park’? / fRafef@d & ¥ 1= <t Uqy Uy uﬁl'lﬁﬂﬁ%, o1 g
P Fe | W& IR FAtaror fosar o we1 82

1. Golden Oriole / TTeg SIRT
2. Hangul or Kashmir Stag / 87d T HRART farum

3. Yellow-throated Marten / feraRTel

4. Musk Deer / W e

Correct Answer :-

« Hangul or Kashmir Stag / §7[¢1 a1 HhRAR] fg 01

4) Which Commission recommended that appointments of Governors should be strictly non-

partisan? / T d SN = Ryw1iv=r 91 i wsaural ot Fgfeaal d asit & e 18t
g anfge?

1. Malimath / HTfcIHS
2. Thakkar / P h
3. Sarkaria / IRBTNAT

4, Punchhi / Q@Df

Correct Answer :-

« Sarkaria / GIBTT

5) Which school of philosophy propagated Project method of teaching? / E'\’hw & fHg

faemera A Rraor &t ufEisET ugfa &1 vER faanr

1. Naturalism / Wﬁﬁﬂ?
2. Pragmatism/ AdgRAIG
3. Constructivism / XIIdI¢

4. Existentialism / m

Correct Answer :-
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. Pragmatism/ JdgRdlq

6)
Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I{Text) List-IT{Author)
A _Kitab-al Hind 1.Ibn Battuta
B_Eihla 2 Al-Biruni

C Humayun Nama | 3 Lahori
D Badshah Nama | 4.Gulbadan Begum

- 11 & | - 1 & ferms & 3R gt & o= e are i &1 sadter #a |61 3cck
LCE

qar-l(Eaee) T -1 (erEeh)
A Trdrea-37el fgeg | 1. Seo aqar
B. Rgear 2. 3d-Tawar
C. Wam 3. SRIRT

D. 9ICAE AT | 4. Icldae Sa1H

1. A-3, B-4, C-1, D-2
2. A-3,B-1, C-4, D-2
3. A-2,B4,C-1,D-3
4. A-2, B-1, C-4, D-3
Correct Answer :-

« A-2,B-1,C-4,D-3

7) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the
planet and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17

goals? / ‘Fad [P d&q’ TR B JUTE H- 3R T Pt ¥&d, Mifa ik 9yfs gl s &
e wrd e &1 e 81 Eieh &1 aarg S AT 17 J8a 6 @ S 91 967 @2

1. Goal 17 /&I 17
2. Goal 13 /¢1&T 13
3. Goal 11 /&I 11
4.Goal 1 /d& 1

Correct Answer :-

e Goal 13/78&J 13
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8) The Andaman and Nicobar Islands are submerged parts of the mountain range called

) S AR FpaREuagg_ udd o & TaHT UnT § |
1. Arakan Yoma / 3RTT GIHT

2. Askai Chin / 3TS -

3. Pegu Yoma / U 1T

4. Tien Shan / faTi 9

Correct Answer :-

o Arakan Yoma / SRIbIH Q|

9) What is not true about the art and architecture of temples of Khajuraho? / GSRTg! & HfeR\
Pt BT 3R IRGH AT & fava & Fa1 I T8 7?2

1. Khajuraho temples contain erotic art inside the temple. / WoRTe! HfeR| T Hfdx & 3R BT Hal
S eI

2. Temples were made of sandstone. / HGR 31T TR I & |

3. It was built in Nagara style of architecture. / 3% aRqdb el B TIST Rt H ST 74T U |

4. The columns and architraves were built with megaliths. / TH 3R aﬁfﬁﬁq oIy ¥ 9
T Y|

Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TSRTg! TRl T TR & 3ieR HTD DHell
ST gl

10) Which of the following site is famous for stupas, monasteries, temples and pillars? /

fFrafafeaa & Q 919 a1 wra WU v6), Gfe?y o Wl & fore uftrs 32
1. Khajuraho / @RTg!

2. Ujjain /IS

3. Vidisha / fafggn

4. Sanchi / g<t

Correct Answer :-

« Sanchi /Tt

11) The author of famous Gita Govinda, Jayadeva was court poet of: / Ui «iiid Mfde» &
AP, SIUCd 3P AR} B U:

1. Lakshman Sena of Bengal / STl & @&H01 94


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. Prithviraj Chauhan / GdRTe1 TgH
3. Gopala / TaTd
4. Harsha /g9

Correct Answer :-

« Lakshman Sena of Bengal / §7Tel & @&HU1 9

12) Article 356 of the Constitution is related to the imposition of rule in the state. /

Gfaem &1 e 356 fpet T=a | I AR HA | Hafdd 3

1. President’s / TIgCIﬁ[
2. Chief Minister’s / T&HAT

3. Prime Minister’s / UUTTHAT
4. Governor’s / JSIUTd

Correct Answer :-

« President’s / Tl'gclﬁ

13) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 & aTIT'T,

wiETdt o iy &1 ufoa R ®n 82
1. 15.9%
2.13.9%
3. 10.9%

4.20.9%

Correct Answer :-

e 13.9%

14) RBI is considered as the lender of last resort for ./ aan%n'é G| & ﬁl’E
TR Folerar AT ST 3|

1. The cooperative banks / W éﬁ
2. The Regional Rural Banks / 8510 i St
3. The commercial banks / AT Scb}

4. The Government / ¥DR

Correct Answer :-
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« The commercial banks / IOICI® dh|

15) In which language was Rajtarangini written by Kalhan? / ®¢gUl = YreraR i fe
o F fRreft 82

1. Prakrit / YUlhd
2. Devnagari / REEIRY

3. Sanskrit / I¥&pd
4. Pali / OTClt

Correct Answer :-

« Sanskrit / I¥pd

16) In which year the NEP was introduced? / E:Ig'lﬂ EELE A= 3| 11'§ qto

1. 1991

2.1992
3. 1990

4. 1993

Correct Answer :-

e 1991

17) Who among the following did not belong to the group of ‘Moderates’ in the formative

phase of the Indian National Congress? / frafefea 7| B YR ?T@'q CIPE K2
URTUS TROT H RAUFAEN & 9Yg | dafed =81 A2

1. Gopal Krishna Gokhale / T oyl Trad
2. Dada Bhai Naoroji / &Il Lﬂé ARIH

3. Bal Gangadhar Tilak / ST TTIER ISNED

4. Surendra Nath Banerjee / {:R_s‘{ Y §oI

Correct Answer :-

« Bal Gangadhar Tilak / §T¢ TVTTER faa®

18) Who is a person who holds an office, not because he/she is elected to that post, but by
virtue of the fact that he/she holds another office called as? / dg &I AfT % | U
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ST B ST HIa1 3, AU TRl [P ag S ug F fau g mar g, afep s qua &
IMYR R P agur s pUauAsd Fvars, o $ed &l

1. Ex-officio / UG

2. Claimant / GIAGR

3. Ex - Ante / W—@
4. Stakeholder / %T‘TW

Correct Answer :-

o Ex-officio / qé:f

19) Who appoints the Advocate-General for the state? / T & e werfraear «t ﬁ‘gi%r
DI BT 82

1. President / TI'gCIﬁT
2. Chief Minister / T&HAT

3. Parliament / 9G

4. Governor / YUl

Correct Answer :-

« Governor / YUl

20) A test that predicts the future performance of a student in a particular area is known as:

/ T ydteor <l st faiy & & vep o & Hiaww & yeri= &1 yiasarit s g, 39
Y U H ST SITdT &

1. Diagnostic test / AT Tteror

2. Prognostic test / qa‘flrra? SRl

3. Achievement test / STl URI&UT

4. Paper Pencil test / PITS Ufa wiem

Correct Answer :-

« Prognostic test / u@fﬂ%ﬁ R

21) India after independence relied on food crop supplies from USA under the Public Law

./ e fafyr (uf<re ) & Sffd TqaTdT Wi & 1 YR @Trel Baal
o1 3Myfd & fore Tgad Isa smfieT W AR ari

1. 450
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2.490
3. 480
4. 470

Correct Answer :-

« 480

22) among the following is an example of industries which are run with the help of
family members, friends and relatives. / ﬁﬂqﬁ'@ﬁ & HYT, Uh Q@' IR BT
STV 7, Sl URAR & e, gl 3R RAgRI 3t 7eg | I 91d &

1. Large and Medium scale industries / a@ G'ﬁT AT ¥R &b m
2. Capital industries / q;\_rﬂ JENT

3. Cottage industries / W RE|

4, Regional industries / &g JENT

Correct Answer :-

. Cottage industries / FCR SN

23) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose - / a@mﬁﬁmmwmma oreT
SUHNT & IET |V 3= JATHH T ST H1 P fore U fpar Sran g -

1. Fiscal goods /WW

2. Capital goods / q\\_rﬂTIT‘T aﬁq

3. Consumer goods / JqHYeT RGSIY
4. Perishable goods / ICEARi] IV

Correct Answer :-

« Capital goods / q\\_rﬁTIT‘T GRGIY

24) The amount of water vapor actually presents in per unit weight of air is known as: / gdl

& yfd so1s UR A IUfRIG 919 F) AT Heard! 8-
1. Absolute Humidity / FARU& 3T

2. Saturated Air/ W arg
3. Relative Humidity / GTUT& STl
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4. Specific humidity / TaTRTY ST

Correct Answer :-

. Specific humidity / fafR1y e

25) The Conference held in led to the establishment of Non-Aligned Movement

(NAM)./ ¥ Smaifora oo & SR e PR g (vam) @t g ah
1. Yugoslavia/ I AT

2. Belgrade / STUS

3. Egypt/ {0

4. Bandung/ EI'IS;‘T
Correct Answer :-

« Bandung/ G'IEET

26) The name of the teacher of Ajivika religious sect was: / 3eitfaeT unfife Juera &
3TaTd &1 AT UT:

1. Puran Kashyap / Yq » Y
2. Ajit Kshekamblin / 3{Siid &daier

3. Sudas / Jald
4. Makkhaliputra Gosala / WW NI

Correct Answer :-

+ Makkhaliputra Gosala / Wﬁ’ﬂﬁ[ NIy

27) The method of teaching that is suitable for developing democratic attitude is: / ﬁT&I'UT G|

fafr =it Arpdie eRw el o & foe Suga &:
1. Brainstorming method / faaR-dy fafg

2. Activity method / TTffafdr fafer

3. Lecture method / SRS fafd

4. Historical method / ﬁﬁfgm fafer

Correct Answer :-

+ Brainstorming method / foaR-dy faf
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28) The evaluation that is concerned with the performance of the individual in terms of what
he can do or the behavior he can demonstrate is termed as: / dg H\T'CI'IW W Aafe & Wih
& "y T § {5 a8 F1 X GHa1 § 1 98 Sl AGER UGRid B Gohdl §, 39 o Fal
STl 3

1. Formative evaluation / FA0TE® Helih
2. Norm-referenced evaluation / STHIRT -3 &1 Heih

3. Summative evaluation/ I le\c'tlid?"l
4. Criterion-referenced evaluation / ATGS - HaiHd HAlh

Correct Answer :-

. Criterion-referenced evaluation / AFGS - & Hd H™ih
29) The proponent of basic education is: / §&I Rren & gud® §:

1. Mahatma Gandhi / HalHT et
2. Swami Vivekananda / Hﬁmﬂ ICCEARE

3. Jiddu Krishnamurti / fSTgg oML
4. Rabindranath Tagore / IS gAY SR

Correct Answer :-

o Mahatma Gandhi / HeTHT e

30) Cooperative banks in India falls under the Banking Regulation Actof ./ HRd H
Tepid®d & dfd faframe siftferas & siavfd sma @1

1. 1947

2. 1950

3. 1949

4. 1948

Correct Answer :-

« 1949

31) Which committee recommended for the creation of the post of District Development

Commissioner? /WWW%W%W%WWW%W@”
1. M.L. Dantwala / TH.Td. GiddTell
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2. Ashok Mehta / 32h f[ET‘IT
3.G V K Rao /Sl d1. &. 314
4. Hanumantha Rao / gT:IHT X[d

Correct Answer :-

« GVKRao/Sl.d. & 3G

32) Which of the following is a Greenhouse Gas? /FPrafafRea A 4 U D1 L] e
82

1. Argon/ 3
2. Oxygen / ieRfTeT

3. Nitrogen / ?I%‘gﬁ\_ﬂ
4. Carbon dioxide / PTa SIS S

Correct Answer :-

« Carbon dioxide / BT SIS S

33) Which of the following is not included in Project method? / fHHfIRAT # ¥ HIH Mulae
faft o =nfra 8 82

1. Problem type / QU'IEE'J:[ cIgy

2. Projector type / Eﬁﬁlw CIER
3. Drill type / fgd €184

4. Inquiry type / S dIgR] €2y

Correct Answer :-

. Inquiry type / SIPAIGR] T2

34) Which of the following is not an aim of Social Science? / Frafafea o 9 a1 gmoe

fasm &1 v& e T 22

1. Developing right attitudes / gl tl?ﬁql?f A RId BT

2. Intelligent democratic citizenship / §@Iﬂ_*f ADhdiAd ARTREGT
3. Building social competence / B IEINED FITI?‘I'C[ &1 fAmfor

4. Making a rich economy / U HH& S TaRIT §HT

Correct Answer :-
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« Making a rich economy / Uch HHK SJTaRIT §H

35) Which of the following is not the objective of teaching Social Science? / fFrafefea k|

T AT I & g™ 3T 3839 781 22

1. Social development of the child / = BT AHHTID fabr

2. Creation of leadership quality / '-'\Kj(‘d Gl NUEKIE fmfor

3. To prepare an ideal citizen / Uch 3Tef AN dIR &Rl

4. Memorization of the events / T3 T TRUT

Correct Answer :-

« Memorization of the events / I&T3{} ST THITT

36) Which of the following institutions was not founded by Mahatma Gandhi? /ﬁ'ﬂﬂﬁl@ﬁ

H A DI AT HGAT HETHT e & gRT GUTa 181 foram war u12
1. Seva Gram / 9dT UTH

2. Phoenix Ashram / Iﬁﬁw SIHH

3. Banaras Hindu University / §RY %Tﬁ{ ﬁlz[aﬁw

4. Sabarmati Ashram / GTSRHd! STHH

Correct Answer :-

« Banaras Hindu University / d9RY |%'_'|\§ ﬁmﬁw

37) Which of the following was the most important reason for lowest sex ratio in the 1991

census of India? / FFraferfEa & & @ 1991ﬁmaﬂwwmﬁmmﬁhmm$r
T HgdYUl HIROT T2

1. Sex selective abortion / Il YUI gl

2. Malnutrition / W
3. Son preference / G2 UTUHHT

4. Undercounting / 3{UITUIA[

Correct Answer :-

+ Sex selective abortion / Ul YUT 5T
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Which of the following is the most prominent problem that a teacher faces while teaching

social science? /ﬁaﬁrﬁaﬂﬁ@raﬁqvﬂmmmaﬁﬁwﬁrwaﬁm
fa3m ye™ & SR 3t 82

1. Balancing the different learning needs of the pupils / faenfat ot fafa sifrm smazgdarsit
CARGINGESS!

2. Helping all students to get maximum marks / Tt S B1 SHfHdH 3 U & H Hag
PRl

3. Helping the students to meet long-term goals / B B SrdpIferD A6 xr A T Hag
PAT

4. Accommodation of diversity of the students character / S & IRF @ fafaedt &1 sma

Correct Answer :-

« Balancing the different learning needs of the pupils / faenfat ot fafta sifeem smazgdmarsit

D! gferd BT

39) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / YRA-UTfhe=

& 59 gz & TRvmRGEY givarest &1 fmfor gan?
1. 1999
2. 1965
3.1984
4.1971

Correct Answer :-

- 1971

40) Which among following schemes was first implemented for the alleviation of poverty in

India in the year 2015? / FAfIfEa & @ o9 Wt giw=m af 2015 & yRa & 7 3@
& e arg @t 713 A2

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgIHI TTieht Q‘I@’q
YTHIOT ISR TRET SHfef-ad

2. Pradhan Mantri Gram Sadak Yojana / JUHAT 9 TS BicE]

3. MUDRA scheme / gl IS
4, Central Cooperative Scheme / W W BINE

Correct Answer :-

« MUDRA scheme / &I IS
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41) Where is the head quarters of United Nations situated? / TG MY ST HEITAY P8l

Rag?
1. San Francisco / ﬁ? HiRR®AT
2. Washington / qTiRivTe

3. New York / QIJ\I%
4. California / pTeTRIAT

Correct Answer :-

« New York / II;J%

42) In the modern education system, the role of social science teacher is as: / 3T ‘”g[&ﬁ? fRrem

woITelt ®, Ao A Rige 3t YfeT 59 UeR
1. Follower / GEQTEﬂ

2. Friend / THT

3. Facilitator / W
4. Philosopher / GQi:lQIIHm

Correct Answer :-

« Facilitator / &W

43) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment
of 500 ‘PAGODAS’. / 3 IT BT T8 Fard fora= fafe=r &t 500 “wie’ & YraA w®
WA ©U I ATIR H & {8 gg=r wrarriear i

1. Bidar / IéaR

2. Bijapur / STSITQR
3. Berar / SRR

4. Golconda / TﬁW

Correct Answer :-

« Golconda / an

44) Who founded the city of Agra? / 3TTIRT TER P WITYT fHaa $1?

1. Humayun / E'JZI'I'CI
2. Shah Jahan / TTESTET


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Akbar / {hdR
4. Sikandar Lodhi / Rréee areht

Correct Answer :-

« Sikandar Lodhi / RehaR aieit

45) When was the First Battle of Tarain fought? / RIS DT UYH Y& D ST AT YUT?
1. 1206 A. D.

2. 1195 A. D.

3.1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A. D.

46) Which of the following statements is correct regarding social science? /

fuafafad 8 @ o9 91 FyY= o g & Jdu # 981 82

1. Social Science can be optional at school level. / RIEINED ﬁiﬂ:{ AT TR W W _E?f
Il g |

2. Social Science studies only the events of the past. / oI a3 dhad 3fdid I g1l &l
3T BT 5 |

3. Social Science is a harmonious blend of various subjects. / N IEISES BNII"I, fafre fomal &1

oyt fsyor g |

4. Social Science subject matter changes according to the ideals of the ruling party. / JMHTRI® faqT=
v avg, INF < & SR & STIR deadl g

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / BIEIEED ﬁ?ﬂ:[, faftra fawal &1

gresregguf fAreor g |

47) Students re-create the teachers’ apparatus in which a paper clip tied to a

string ‘'moves’ over a magnet. This method is called . [ BT, fRrere SudHwur
B T1:gY HRd &, ForaH T g9 & SW T KT § 41 YuR fRau avmar S g1 59
fafa =+t ST ATdT 8

1. Inquiry Resolution / S W:q

2. Guided Inquiry / BRG] FERIE]


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Open Inquiry / 30T GBS
4, Invitation to Inquiry / TIck] ISIMBEEL

Correct Answer :-

- Guided Inquiry / ST Uzars

48) An observation which is written like a short story is known as: / B¢l ML
¥ qvg fofad ue sadied A U & ST W 8:

1. Conduct Register / HSPC QR)NI\C{

2. Anecdotal Record / SURSTHTHD Rebis
3. Teachers Log Book / RI&feb &l &
4. Cumulative Record / RG] |§$VI§

Correct Answer :-

« Anecdotal Record / SURATIHSD Rebig

49) Who among the following was popularly known as the ‘Frontier Gandhi’? / ﬁ'ﬁﬁl'@?l

A A f5a iR it & A J SE1 ST U1

1. Maulana Abul Kalam Azad / A STl helH 3AHIvllq

2. Igbal khan / g el QI+

3. Abdul Ghaffar Khan / 3{eg el TTUHIR d[

4. Hasrat Mohani / 89%d HIg

Correct Answer :-

+ Abdul Ghaffar Khan / 3fegcl TR T

50) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and

social work? / 1896 ® WTFA1T I1@d 3R AT HTd SR ¥+ & I Irmgrwr fre= &t
RITT fraq ot

1. Swami Vivekananda /Em:ﬁﬁaw

2. Ramakrishna Paramahansa / JTHG T TRAGY
3. Swami Dayananda Saraswati / WH GG Il

4. Blavatsky and Olcott / STATe! 3R 3Nehle

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

o Swami Vivekananda / @Tﬁﬁﬁm

51) In which year was the Dutch East India company formed? /Sd éw Eﬁ'ﬂ:ﬂ S BT

o+ fore adf # fovar war 41
1.1616
2. 1620
3.1614

4. 1602

Correct Answer :-

e 1602

52) CANCELLED
How much is adiabatic cooling rate? / R =g @) (Q'%'CI'IQW Wi?) feat %?

1. 5° C/Km
2. 8° C/Km
3. 15° C/Km
4. 10° C/Km

Correct Answer :-
e 10° C/Km
53) CANCELLED

Where in the “Ninety East Ridge” submarine volcanic ridge located? “:I'Ig'_'l—c& iv: o o

AR Sarargd! udadoft (e sef fRa @2
1. Indian Ocean / %?{ He R

2. Arctic Ocean / 3fTh{cd HEETR

3. Atlantic Ocean / 3{cdifcd HERINR
4. Pacific Ocean / URId SRR

Correct Answer :-

54) CANCELLED


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

The study of ‘Man’s ethos’ is: / "™ & APER’ T AT 3= gia1 8:
1. Psychology / Wﬁﬁﬁ

2. Sociology/@wﬁﬁ

3. Anthropology / Q@hthﬁ}l%ﬁ

4. Geology / ISUIGIE

Correct Answer :-

« Anthropology / Qmﬁﬁﬁ

55) CANCELLED

Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

fraq we1 f%, I8, T HIaTHS Ufafhar IUT HId1 & Sl U7 df YPRIAD aT
TERIAP &l THdl 3| UfayfY (Pisad®) mus! Jem iR o ¥@q § JgrdT HRdl
g, o fia=ha Rian 812

1. Dylan Wiliam / ST faferaa
2. Paul Black / UTdl W

3. Charles Beard / ﬂ’l@ CRE]

4. Miller / fAeR

Correct Answer :-

« Dylan Wiliam / €1 faferag

56) CANCELLED

The primary source of data is: / 3T &1 WIS @i %:

1. Biographies / Wiﬂ\q’ (EITQZH";ITCFﬂ)

2. Bibliographies/ Y¥dd ﬁ%ﬁﬂ mﬁ)

3. Commentaries and treatises / CIHI-CTOMAT 3R 3{TeRd
4. Proclamations / Eﬁw

Correct Answer :-

e Proclamations / W


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

The largest contiguous cotton-growing region in the world is located in which among the

following countries? / fFaforfEd & A fog 3 # fay &1 99 go1 Afafed sy Suc®
&z fya g?

1. China / H
2. United States / Ggad IoY AR

3. India / HRRd
4. Pakistan / UTfop &

Correct Answer :-

« United States / T I 3ARBT

58) The only two landlocked countries of South American continent are / Ef&I'UT

AR HETEIU P Had 3 W5 o gl

1. Surinam and Guyana / g\ﬁ:ﬂ'ﬁ[ 3R RIIEIE
2. Columbia and Paraguay / Hicear 3R R
3. Bolivia and Paraguay / Sieiifaar 3R IR

4. Ecuador and Parana / seDIS\IQ &ﬁT IRTAI

Correct Answer :-

+ Bolivia and Paraguay / Sreiifaan 3k R

59) Which among the following is the lowest level of a body of water such as an ocean or a

lake? / FFEfITET & A 1 HEITR a1 3 SRl ol &1 TS &7 e AT TR @2
1. Demersal / SHUA

2. Neritic / ARfC®H

3. Benthic / §TYeh

4, Pelagic R GINED

Correct Answer :-

« Benthic/ W

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / Tiefiolt & Srfiqar t@Tﬁ-{ HarAar &t
DY 1939 § B T A $9 S & el gAfHaie fee e

1. Dr. Rajendra Prasad / €. oIS TG


https://applink.adda247.com/d/XhqWf9lSap

Addasiy
Google Play

2. B.J.B Kriplani / &5l &, pUail
3. Subhash Chandra Bose / gHTY Ig Cies|

4. Nellie Sengupta / el @:I'T?IT

Correct Answer :-

« Subhash Chandra Bose / GHTY Tg CIS|
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